
Ultimate Kit
PARTS LIST Version: July 2025



60 mm
80 mm
120 mm
160 mm
200 mm
240 mm
320 mm

Axle 55
Axle 125
Axle 180
Axle 350
Axle 450

1x
1x
2x
1x
2x
1x
1x

2x
1x
1x
1x
1x

1x

2x

1x

Bearing Joint

Handlebar 

Handlebar  
extension

Adventure Kit ADV-01 | BOX 1A

Angle joint

Knurled disc

Square spacer

12x

7x

11x

8x

8x

2x

L-Joint

T-Joint

Axle Plate

Connectors Profiles Axles

Bearings

Steering Gear



Adventure Kit ADV-02 | BOX 2A

Fasteners

1x
1x

Base plate side (x16)
Base plate end (x12)

2x

4x

2x

2x

4x

2x

1x

U-joint 

U-joint cap 

4 inch wheel 
house

Top plate 
locked 

End cap

Angle limiter

Name logo

Connectors

Wheels

Protection

Steering Gear

Accessories

5x

2x

1x

Axle clamp

Top plate 
spinning

Wing logo



Adventure Kit ADV-03 | BOX 3A

2x LED wheels

With Xmas promotion:

1x

1x

1x

1x

2x

1x

1x

Brake lever 7” 
wheel house

Brake cable  
60 cm 

Crank right 

Crank left 

4 inch wheel

Infentobox

Allen key set

Breaking Gear

Driving Gear

Wheels

Accessories

Tools

1x

2x

3x

Brake cable  
130 cm

Pedals

7 inch wheel



BASE 01 - 04

EXTRA BAG

Adventure Kit

Sit and Stand 

Tools

Fasteners

1x
1x
1x
1x
1x

Bag base-01
Bag base-02
Bag base-03
Bag base-04
Extra bag

2x

2x

1x

Board base 

Board 
extension

Bike seat

1x Gauge

ADV-04 | BOX 4A



Adventure Kit

1x

1x

1x

1x

5x

7 inch wheel 
house

10 inch rim

14 inch tire

Brake lever

Rim Closure

Wheels

Breaking Gear

Protection

1x

1x

14 inch inner 
tube

Wheel hub 
driven 

ADV-05 | BOX 5



Adventure Kit ASSORTMENT BOX



Innovator Upgrade INN-06 | BOX 6

4x

1x

6x

1x

1x

1x

1x

3x

1x

1x

Frame 
connector

U-joint 

Clamping part

Belt shield 46T 
set

Belt shield 26T 
set

Pulley 46T

Pulley 26T

Bearing joint 

7 inch wheel

Angle limiter

Connector

Driving Gear

Bearing

Wheel

Steering Gear

2x

2x

2x

2X

U-joint cap

Belt shield 
bearing

Belt Shield 
profile 297.3 
Top+bottom

Belt Shield 
profile 297.3 2 
Top+bottom



INN-07 | BOX 7Innovator Upgrade

1x
2x
1x
3x
1x

2x
1x
1x

Profiles Axles

Profile 80 
Profile 160 
Profile 200
Profile 240 
Profile 320 

Axle 125 
Axle 180 
Axle 220 

Angle joint

Knurled disc 1 

L-joint

T-joint 

12x

5x

7x

1x

2x

8x

16x

Axle plate 

v end 

Base plate side

Connectors



BASE 05 - 07

Innovator Upgrade INN-08 | BOX 8

1x

2x

3x

Freewheel

Bridge

Wheellock ring

Driving Gear

Connectors

Wheels

2x Axle flange

Fasteners

1x
1x
1x

Bag Plus-05 
Bag Plus-06 
Bag Plus-07



Innovator Upgrade INN-09 | BOX 9

1x

1x 1x

2x

Belt 118T 

Brake cable  
100 cm

Brake cable  
160 cm

Board tail

Driving Gear

Breaking Gear

Sit and Stand

1x Belt 136T



Innovator Upgrade

1x

1x

1x

1x

1x

Brake caliper

Brake caliper 
holder

Caliper spacer

10 inch rim 

14 inch tire

Breaking Gear

Wheels

1x

1x

1x

1x

1x

Brake disc 

Disc protection 
ring 

Spacer 
protection ring

14 inch inner 
tube

Wheel hub free 
spinning 

INN-10 | BOX 14 inch Wheel + Brake  



Innovator Upgrade BOX 14 inch Wheel + FS Hub  

1x

1x

10 inch rim 

14 inch tire

Wheels

1x

1x

14 inch inner 
tube

Wheel hub free 
spinning 



Ultimate Upgrade

Profile 40
Profile 60
Profile 80
Profile 120
Profile 160
Profile 200
Profile 320

1x5x
1x
2x
2x
1x
1x
2x

Axle 550

4x

4x

2x

9x

Handlebar

Angle joint 

Knurled disc 1 

L-joint 

Steering Gear

Connectors

1x

5x

7x

Handlebar 
extension

T-joint

Axle plate

Profiles Axles

ULT-11 | BOX 10



Ultimate Upgrade

1x

2x

2x

2x

2x

2x

1x

4x

Steering plate 

Steering arm

Turnbuckle

Rod end M8 
male

Bearing joint

End Cap

Board base

Square spacer

Steering Gear Bearing

Protection

Sit & Stand

Connectors

2x

1x

1x

1x

Rod end M8 
female

Threaded rod 
M8-150mm 2

Threaded rod 
M8-100mm 2

Board 
extension

ULT-12 | BOX 11



BASE PLATE END

Ultimate Upgrade

3x

1x

4x

1x

2x

2x

Base plate side

U-joint

U-joint plug

Wheellock ring

4 inch wheel 
house

Clamping part

Connectors

Wheels

Driving Gear

1x

2x

2x

Angle limiter

Torsion joint

Top plate 
spinning 

Fasteners

2x Base plate end  
(x12, x8)

ULT-13 | BOX 2C



Ultimate Upgrade

Wheels

4 inch wheel2x

Fasteners

1x
1x

Bag ULT-08
Bag ULT-09

ULT-14

ULT 08 - 09



Ultimate Upgrade BOX 14 inch Wheel + FS Hub

1x

1x

10 inch rim 

14 inch tire

Wheels

1x

1x

14 inch inner 
tube

Wheel hub free 
spinning 



Ultimate Upgrade

1x 8 inch rim + solid tire

Wheels

BOX 10 inch Wheel



Ultimate Upgrade

1x 8 inch rim + solid tire

Wheels

BOX 10 inch Wheel



Ultimate Upgrade

1x 8 inch rim + solid tire

Wheels

BOX 10 inch Wheel



Ultimate Upgrade

1x 8 inch rim + solid tire

Wheels

BOX 10 inch Wheel



Ultimate Upgrade

1x

1x

1x

2x

1x

Hub motor

Throttle/brake 
cable

Key

Cable spool

Velcro strip

1x

1x

1x

1x

Battery

Docking 
station

Charger

USB cable

ePulse

4x Bolt M8x12 
countersunk 
(black)

Bolts

Nuts

Twist Nut4x

ULT-EPULSE 4.0 AH



Fasteners bags overview

Ultimate Kit

Base01

Base02

Base03

Base04

Extra bag

Plus05

Plus06

Plus07

Ult08

Ult09

Bolts & Nuts

M6x12 16

M6x20 8

M6x30 4 4

M6x35 10 6

M6x50 nylock 12 4 6

M6x55 dome nylock (black) 2

M8x12 countersunk (black) 4 5 4

M8x16 dome 5 10

M8x20 16 21

M8x25 18 17 24

M8x25 countersunk (black) 2

M8x30 10 4 3

M8x30 nylock 2

M8x35 5 5

M8x35 adjusting bolt 2

M8x40 2 4

M8x40 countersunk (black) 5

M8x45 4 4

M8x40 nylock 2 2

M8x50 4

M8x50 nylock 2 2

M8x55 3

M8x55 adjusting bolt 2

M8x60 1 1

M8x65 2 1

M8x70 2

M6 locknut 10 14

M8 locknut 13 14 12

Nut M8 4

M6 square nut 12 10

Twist nut 19 15 4

Slide nut 2 2

FASTENERS 1/2



Ultimate Kit

Base01

Base02

Base03

Base04

Extra bag

Plus05

Plus06

Plus07

Ult08

Ult09

Washers

Washer M8-16 2 2

Washer M8-24 8

Spacers

Spacer 2mm 3 4

Spacer 5mm 3 4

Spacer 10mm 1 7

Spacer 20mm 1 4 5

Breaking Gear

Cable clip 4 9

Compressions spring 1

Brake cable bolt 1

Brake cable clamp 1

Spacer 8-13x18 5 4

Protection

Axle cap 4 3

Bearing plug 4 2

Protection cap 1 5

Connectors

Wedge 5

T-plate 8 1 5

Sliding Spacer 8-13.1x41.8 2 1

ePulse electric motor

O-ring 2 4

Accessories

Brass valve adapter 1

Fasteners bags overview

FASTENERS 2/2




